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GCSE Homework
Scenario
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Age: 12
Name: Slavek
Age: 18

Name: Jordan Deeds
Age: 15

Name: Wayne Rooney
Age: 28

Club: Little Kickers
League: Primary School
International: No
Club: Hamsey Rangers
League: Tandridge B Division
International: Yes
Club: School Football
League: Extra Curricular
International: No
Club: Manchester United
League: English Premiership
International: Yes
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Both Warly and Wayne Rooney may not take part in sport for too much longer. List with explanations how both could in different ways continue their participation in sport. (6 marks)
Task should be written or typed up. Answer should be in full sentences offering explanations and examples where necessary.
Due Date:
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